Math375 Quiz 8 Oct. 14, 2021

Name: S b) d‘}W.O/LS

Directions: Show all work. No credit for answers without work.

1. A fair die is rolled 3 times. Let A be the event that the first roll is strictly smaller than the
second (so (4,5,1) € A but (4,4,1) ¢ A). Let B be the event that all three rolls are distinct.

(a) [1 point] What is the probability space 27 What is |2|?

Cl=En- g

‘Q]> QJS = 21k Choose Fa;r 4 o)y}w\ojr Vlw'lwsdg/ %ﬂ{ s ro[/f
(b) [2 points] Determine Pr(é@{ Closse 6“7 Nunber @ i' Livlﬂ/ 3
k(5 L. s
Al: —— =< 2 5 5
) 52 — e S
L I it S S S .
?((53 : m ) (03 6 b 3-3 9

(c) [2 points] Determine Pr(A|B) and Pr(B|A).
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(d) [1 point] Are the events A and B pos. correlated, neg. correlated, or independent?
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2. [2 parts, 2 points each] Recall that a standard deck of cards has one card for each rank/suit
pair, where the ranks are [ace, 2 through 10, jack, queen, king], and the suits are [clubs, hearts,
diamonds, spades|. A 5-card poker hand is dealt from a freshly shuffled deck.

(a) What is the probability that hand has no spades?
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(b) It is revealed that the hand has all distinct ranks. Now what is the probability that the
hand has no spades?
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